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QUESTION 1

If the interface of the router is out of A GigabitEthernet0/0/0 OSPFv3 Hello Option 0x000013, the field 

value is the following. 

The correct one is more ( ) 

A. The interface of the router belongs to the area A GigabitEthernet0/0/0 NSSA 

B. The router will participate in the routing calculation. A GigabitEthernet0/0/0 IPv6 meter 

C. Router is capable A OSPFv3 standby forwarding device 

D. Router Support Flooding 

Correct Answer: BCD 

 

QUESTION 2

On a RIPng network, configure a router to advertise the default route to the entire network. Which of the following
configurations is correct? 

A. [Huawei]ripng 1 [Huawei-ripng-1]import-route static cost 2 [Huawei-ripng-1]quit [Huawei]ipv6 route-static :: 0 NULL0 

B. [Huawei]ripng 1 [Huawei-ripng-1]import-route static cost 2 [Huawei-ripng-1]quit [Huawei]ipv6 route-static :: 0
2001:19:9 

C. [Huawei]ripng 1 [Huawei-ripng-1] ripng default-route originate [Huawei-ripng-1]quit 

D. [Huawei]interface GigabitEthernet0/0/1 [Huawei-GigabitEthernet0/0/1]ipv6 enable [Huawei- GigabitEthernet0/0/1]ipv6
address 2001::12::1/64 [Huawei-GigabitEthernet0/0/1]ripng 1 enable [Huawei-GigabitEthernet0/0/1]ripng default-route
originate 

[Huawei-GigabitEthernet0/0/1]quit 

Correct Answer: D 

 

QUESTION 3

The HTTP protocol is based on TCP. Therefore, TCP flood attacks and HTTP flood attacks are defended against in the
same way. 

A. TRUE 

B. FALSE 

Correct Answer: B 
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QUESTION 4

Which of the following AS-paths can be matched by the AS-Path filter configured using the ip as- path-filter 1 permit
^12.*74$ command? 

A. AS_Path (32 1274 23) 

B. AS_Path (125 328 74 23) 

C. AS_Path (123 621 743 2374) 

D. AS_Path (321 12 2374) 

Correct Answer: C 

 

QUESTION 5

What is the role of (in MPLS VPN RT?) 

A. Allow the PE VPNv4 VRF to decide which routes to route to a specific guide. 

B. Allow the PE VPNv4 VRF to decide which routes will not be routed to a specific guide. 

C. Allow the CE VPNv4 VRF to decide which routes to route to a specific guide. 

D. Allow the CE VPNv4 VRF to decide which routes will not be routed to a specific guide. 

Correct Answer: AD 
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